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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(@ii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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ECONOMICS
Paper III

AL ITET
gyautent II1

Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This Question Paper contains Seventy Five (75) multiple choice questions.
Each question carries Two (2) marks. Attempt All questions.

A ¢ A GRAUCTRT THY Ueewl (75) Sgudidl WA fol oed. Woad W & (2)
U SRd. @E U Wi

1. In the Lewis Model of growth the | 1. afgg=a snfefs IR Cr| JITHMITER

process of capital accumulation by

TEaeRRI=A Iead Fadaran 9o
capitalists results in : -

(A) higher productivity
(A) d&dl IcdIgehdl
(B) reduction of surplus labour

(B) 31fafted sifferren T&dq o2
(C) technical progress

C) difeh Wt
(D) shortage of unskilled labour ©)

2. The endogenous growth theory (D) SR HEMUET HHAN

states that growth is generated | o  srqufq srfugsgl fagiamar e
by D U OO e _qTﬂ% T _aﬁ

o

(A) endogenous population growth

(A) 3T cAREE 916
(B) endogenous technical progress . )
(B) 3idsiia difseh Wt

(C) endogenous human capital

formetion (C) 3Tasid HHet vread fHfHdr

(D) endogenous productivity growth (D) 3fasiid Scagehdl 918

3 [P.T.O.



In Kaldor’s growth model, the

warranted growth and actual

growth becomes equal to each other

through :

(A) change in capital-output ratio

(B) change in population growth
rate

(C) change in savings ratio

(D) change in profit share in
income distribution

In Joan Robinson’s Model of

economic growth capital
accumulation depends on :

(A) wage-productivity
(B) agricultural productivity

(C) profit-wage relation and labour
productivity

(D) profit ratio

In Myrdal’s Model of economic
development two effects are
mentioned :

(A) backwash effects and spread
effects

(B) roundabout effects and direct
effects

(C) spread effects and interlinkage
effects

(D) backwash effects and direct
effects

MAY - 11316/III—C

FHIASR A=A TS TRTHATER I
stfggier snfor gyeaer srfuggiex

I TehHehT=AT SIe

(A) WEad-3cRA TUIRRIAA 5

(B) ST dTer=al <Udid sied

(C) s=d TUIRRIE a5a

(D) SO SeUdid T fevvanda
CHY|

T STE.
(A) FH-ScHTEehdl

(B) FHit-3cqIgendl
(C) THI-9d9 Hae M0 SH Scargehdl
(D) TH TONR

Teicren s fasmmren gfaama geia
TH IRUMET SwiE e

(A) Tomerel 9iomy 9 gER gRemd
(B) TWER URUMH 9 Ygel giRony

(C) 9gIT iy A1 qeEgega e
TRy

(D) gcatermet uftorm enfor goger
TRy




In the dependency theory the

central thesis is that :

(A) the developed nations depend on
undeveloped nations for

resources

(B) the less developed countries
(LDCs) depend on the developed

countries (DCs)

(C) the market economies depend
on the state managed

economies

(D) the low income countries
depend on middle income

countries

In Marxian Model (p-rate of profit,
s’-rate of surplus value and
g-organic composition of capital),

then which of the following equation

is correct :

(A) p=s0-4q)
B) p=q1 -5
©€) p =5q1 - q)
D) p =sq(1 - 5"

MAY - 11316/III—C

At Tagradia geedt Hehed

BN

(A) Toemfam <91 § Stfoehfad Smer 3aeA

YS! STacied STHard

(B) Icufaenfad 291 & foerfaa egmer

ST STEA

(C) drefefssa erefegercen a1 IS4

Frafr srefeerera steaeie STar

(D) AUSAE Y T ALY A==

QUMER ST STHAT

S p = THMI €T, 8" = SAfaieR gear=n

T M ¢ = A=t H5F T 34,

T A=A IRAMETTIR JEieieh! shiv

TR0 SET 3T ?

(A) p=51-gq)
B) p=q1-5)
(C) p =591 -¢q)
D) p = sqg(1 -5

[P.T.O.



10.

Which one of the following criteria
is chosen by the 14th Finance
Commission for inter-se distribution

of proceeds from central taxes ?
(A) Socio-economic backwardness
(B) Fiscal capacity

(C) Forest cover

(D) Fiscal discipline

Which Finance Commission

recommended grant-in-aid to states
to cover the entire post devolution

revenue deficit ?

(A) 13th Finance Commission
(B) 14th Finance Commission
(C) 12th Finance Commission
(D) 11th Finance Commission

The grants-in-aid recommended
by the Finance Commission are

distributed to states from :

(A) Consolidated Fund of India
(B) Consolidated Fund of the States
(C) National Small Savings Fund

(D) National Investment Fund

10.
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1451 fa<3m=aMR HE GIHTAT

FHHRYET o1 JSHE Y SH AT

-~

e el fae et ?
(A) FrETfSTR-3Tfefer  ArTEqon
(B) USTehISTg &THaT

(C) oAt &=

(D) RIS feTEd

&g LRI L Heger e T

T HedHaX TS IJaNd Tegal! qe
Y& HIRUIEES! hive faa A=
RTPRE Seft ?

(A) 13a1 fo smEm
(B) 4@ fo smEm
(C) 12@n fo M
(D) 1an o s
foq SR RTRRE ol RS

ST v fAfeqa T ey
el ?

(A) \RArET Twhtxa e
(B) TS9Nl UehAq e
(C) U= Teqeraa T

(D) T T[aaves e




11.

12.

In India, by the year 2013, the
money supply (M;) consisted
approximately of ...................... of
currency with the public and

................ of demand deposits with

(A) 60%, 40%
(B) 50%, 50%
(C) 40%, 60%
(D) 80%, 20%

What can you say about the

following statements :

7) RRBs in India were first
established in 1985.

(z1) RRBs are cooperative banks.
Choose the correct alternative :

(A) Both and

statement (ii) are correct

statement (1)

(B) Both and

statement (iz) are wrong

statement (i)

(C) Statement (i) is correct and

statement (i7) is wrong

(D) Statement (i) is wrong and

statement (i7) is correct

11.

12.
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IRA 2013 Tt UeTeN qReS Hell
0L S I QAR BRI el

(A) 60%, 40%
(B) 50%, 50%
(C) 40%, 60%

(D) 80%, 20%

Wreid faamreTed ™ =|uhh J5a 2

() RAKA UefYTeh UH ST JoH
1985 UL TIYH AT

(i) URT¥Thr UTHIU Sl TEhI k]
3R

I W o= .

(A) gt faum faum () s faem (i)
SR 3Ted

(B) <rgt faum faum () sufo faum (i)
T AR

(C) faum (i) sRiex 7o faem (i) ==
e

(D) faum ) I snfor faum (i) sheR
e

[P.T.O.



13.

14.

15.

What can you say about the
following statements :

(Z) All nationalized banks in India

are scheduled banks.

(i1) All scheduled banks in India are
nationalized banks.

Choose the correct answer :

(A) Both statement (i) and
statement (iz) are wrong
(B) Both statement (z) and

statement (iz) are correct

(C) Statement (i) is wrong and

statement (i7) is correct

D) and

Statement (i) is correct

statement (i7) is wrong

In India CRISIL, ICRA and CARE

are :
(A)
(B)
(C)
(D)
EXIM Bank is :

credit certifying agencies
credit rating agencies
credit regulating agencies

credit information agencies

(A) regulatory financial body
(B) private sector commercial bank
(C) specialized financial institution

(D) investment institution

13.

14.

15.

MAY - 11316/III—C

el faumered ™ Bodh J5a 2

(i) RGNS Fe Ui siehl ST
SR 3R

(i) VRATIS e ST el Tsdicha
ST 3TTed.

2180 ST e T

(A) <=1 faum faum ) sufon faum (i)
Ik 3R

(B) <= faum faem (i) snfor faem (i)
R TR

(C) faum () ek 3for faem (i) IR
EIE

(D) faum () ST 7o faem (i) I
EIE

YRdd CRISIL, ICRA 3Tl CARE

(A) Td YHOMYS QUM HEf
(B) wd TS QU HEA
(C) wa Traw e

(D) Td Hfedt QU= Heen

fa o fa

A) foxia fama weomd Teen

(B) @S &l A A

(C) fagrdiigra foxia wwen
(D) TdeOE




16.

17.

18.

Tariff is ineffective when :

(A) price elasticity of demand is

unknown

(B) price elasticity of demand is

relatively inelastic

(C) price elasticity of demand is

inelastic

(D)

price elasticity of demand is

relatively elastic

Which one of the following concepts
was propounded by Gerald Meier ?

(A) Single Factoral Terms of Trade
(B) Income Terms of Trade

(C) Net Barter Terms of Trade
(D) Gross Barter Terms of Trade

All

international economic

transactions of .......cccoevveeeeeenn... nature
are included in the ........ccevveieeennnn..

account of balance of payments.
(A) flow, current

(B) flow, capital

(C) stock, current

(D) financial, current

16.

17.

18.
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Yok heal YOI ITHdl ?

(A) g1 AT fopyd crafaehar Aifed
T

(B) STegl HATO= forAa e fehar |rael
g 3Td

(C) STegl HrTof=n forma aTafaendr qret
I

(D) SiegT A= fohHd dAarfeshar |arge
A 3TEd

WATeTUeht IO Feheddl See HEA
Higet ?
(A) TH T AT

(B) SO SATIRIIC
(C) 7o a%] AR
(D) T IE] ATIRENA

(B) YaTEr, “ede

(C) e, =]
(D) foitar, =mey

[P.T.O.



19.

20.

Rybczynski Theorem propounds
that :

(A) Proportionate change in factor
endowment leads to equal

proportionate change in output

(B) Proportionate change in exports
leads to more than proportionate

change in inputs

(C) Proportionate change in factor
endowment leads to more than

proportionate change in output

(D) Proportionate change in factor
endowment leads to less than

proportionate change in output

According to the Stolper-Samuelson
Theorem, imposition of tariff has a
favourable impact on that factor

which is :

(A)

used intensively in the import-

competing sector

(B)

used intensively in the export

sector

©)

used less intensively in the

export sector

(D) used less intensively in the

import-competing sector

MAY - 11316/III—C

19. R=amen=ar yHagar

(A) ¥k HaaThddieal JHIIRIR Seeles
IARA FHH GHURIR SEel S
Pl

(B) THafdidiel THIURIR Seeides ST
Afereh YHORIR e ogd Il

(C) &gk HaaThddlial JHIIRIR Sqelmes
ITEAT 3Afereh FHIIRIY o5l S
Rl

(D) = HecThddiel FHIURIR SEeAHes
IR HH JHURIN a8 S
EGll

20. WITR-IHUeTT JHATIAN T[Tk

SR SATehal qHOMH 1 Scared
FZHE Bl S

(A) AT TR 3T el aTaLe
Skl

(B) frafd Scureaa digas aTaer STl

fal

(C) Trafd S st diegdd e

STl

(D) 3T ST vt digas arale

STl

10



21.

According to the mercantilists

MAY - 11316/III—C

wealth in the world : 3R,
(A) is unlimited (A) 3
(B) is limited (B) wifea
(C) 1is irrelevant (C) 3A9&d
(D) diminishing (D) =Hd
22. The existing shares of a company | 92 Hudiea = U BREI-TaH]
are tended im the 200 | . 71 SR B
(A) new issues market (A) T FHUN SR
(B) secondary market (B) T dNIR
(C) tertiary market (C) I d=R
(D) primary market (D) Wi TR
11 [P.T.O.



23. Match the following and select the

correct answer using the codes given

below :
Authors
() T.W. Shultz
(i) J.W. Mellor
(i12) M.P. Todaro
(tv) E. Boserup
Title of the Books

(@) The Conditions of Agricultural
Growth

(b) Economic Development in Third

World

(¢) The Economics of Agricultural

Development

(d) Transforming Traditional

Agriculture
Codes :
(A) @)—(d), (i1)—(c), Gi)—(b), (iv)—(a)
B) @@)—(e), @)~d), Gii)—(a), (iv)—(b)
(C) )(d), (11)—b), (ii)~(c), (iv)—(a)
(D) @)—(b), Gi)-(a), (i)—(d), (v)-(c)

MAY - 11316/III—C

23. Siedl Jeodl 9 TIciiel Hehdiehlall aTI&E

I S e

[SicE)
(i) <lesy. e
Gi) S.T=g. TAR
(i) TR =W
(iv) 3. S

TEIRTS SR

(@) T HeRrw 1w sfiiereata W

N

(b) THMIHS

SRATHZ 31 IS dee

(¢) T shHfAEE fw Ifrscad

TRATHS

(d) THIHT Ifevma ffiheeR
i

(A) (D), Gi)—(c), (€i)—b), (tv)~a)
(B) @)—(o), G)~(d), @i)~(a), (iv)-(b)
(©) W), @)—(b), t)—(c), (iv)~(a)

D) @©)-b), (), Gi)~(d), Gv)-(c)

12



24. Match the following and select the

correct answer using the codes given

below :
Poverty Alleviation Programme

(z) Integrated Rural Development

Programme

(iz) Swarnajayanti Gram Swarojgar

Yojana

(Zi1) National Social Assistance

Programme

(tv) Employment Assurance

Scheme
Year
(@) 1999
(b) 1995
(c) 1993
(d) 1977
Codes :
(A) )—(d), Gi)—(a), [@Hi)—(c), (v)—(b)
B) @)—(e), (()—(d), Gii)(a), (v)—~(b)
(©) )—d), Gi)—a), (@D)—b), (iv)—(c)
D) @), (i)—d), (i1)~(a), Gv)—(c)
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24, Sredl oAl 9 @eld Hehdlehlal aTa&H

T S aer

TiRga e srdehd
(i) TUaIfcHesr TTHOT HEHA

(i) TSI UMW USRSl

(iii) T QISR e sy

(jv) TSR ST IS
o

(@) 1999

(b) 1995

(c) 1993

d) 1977

Hehdich :

A) @)—(d), i)—(a), (it)—(c), Gv)—~b)
(B) @)—(e), Gi)—(d), (lit)~(a), (v)—(b)
(C) ()—(d), ii)—(a), (it)—(b), (iv)—(c)

(D) @), ()-d), (i), @v)-(c)

13

[P.T.O.



25.

26.

27.

The share of industrial sector in
employment was ................. in 2011.
(A) 26.2 percent
(B) 24.3 percent
(C) 26.9 percent

(D) 25.2 percent

The concept of disinvestment was

originally introduced by :
(A) Friedman M.

(B) Kaldor N.

(C) Keynes J.M.

(D) Myrdal G.

India accounts for about

................

percentage of the

manufacturing output.
(A) 2.4 percent
(B) 1.8 percent
(C) 3.0 percent

(D) 2.8 percent

25.

26.

27.
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2011 Hreit USRI Sieifites &=

(A) 26.2 TFH
(B) 24.3 o
(C) 26.9 TFH

(D) 25.2 TFH

Frfdaves & Hehead oM

A ghem el o
(A) WEEHT TH.
(B) ®eeR TH.

(C) &4F ..

(D) fuefa .

ST hRETMERT T =T ICARA

(A) 2.4 TFh
(B) 1.8 5
(C) 3.0 TF

(D) 2.8 TFh

14



28.

29.

30.

Uniformity of exchange rate is

possible, due to :

(A) Speculation

(B) Hedging

(C) Arbitrage

(D) Intervention of Central Banks
Fiscal deficit is calculated as :

(A) budgetary deficit minus market

borrowings

(B) budgetary deficit minus other
liabilities of government of

India

(C) budgetary deficit plus market

borrowings and other liabilities

of the government of India

(D) primary deficit plus market

borrowings

The concept of zero based budget

was propounded by :
(A) R.A. Musgrave
(B) J.M. Keynes

(C) Peter A. Pyhr

(D) A.H. Hansen

29.

30.
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(A) HeaTsit

(B) I=d

(C) AR 9U=
(D) HeHerdi sl s&ay

TSRS e AT 318 shel ST :

(A) STRTSTIHTT 2 oIS Gl ST

EcEEECE

(B) ST qE TSN YRA FIhA

A <Al

(C) SITNUARTT e oifersw Tledn

STSIRIGA  Bidciel st STUT WA
THTTAT TR QI

(D) Wigthe 2 31faeh Eed SR

ot

fal

TG STETSISRIE! Hehed Tl AT el
e

(A) IRT. HHIE
(B) S.TH. &9
(C) X W dR

D) T TH. A

15

[P.T.O.



31.

32.

Which one of the following is not
the source of State Government’s

Revenue ?

(A) Entertainment tax

(B) Expenditure tax

(C) Agricultural income tax
(D) Land Revenue

What can you say about the

following statements ?

(z) An import quota always raises
the domestic price of the
imported good.

(z1)) Import quotas limit imports

without raising the domestic

price.
Choose the correct alternative :
(A) Both () and (ii) are true
(B) (@) is true and (i7) is false
(C) (i) is true and (7) is false

(D) Both (i) and (ii) are false

31.

32.
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T TeTdeh! hITl Bid T TR
Hegaal a2

(A) HTHITH HT

(B) TrEtedidd &

(C) Tt Sea=reied T

(D) 9 wHeHd

Trefiel faumeEa @ = I|5d 2

(i) ST hISAHS TeHa ST T

(i) ST hledTes ST fhmd =

JTedl ST HalQl Haet Sid.
Irg W fow
(A) (i) o (i) SR 3T
(B) (i) RIeR W1 (i) oI T
(C) (i) =R 3mfor (;) o TR

(D) () emfor (i) g% e

16



MAY - 11316/III—C

33. The formation of a cooperative 33, TEFT TLem Tenfud YU T
institution has been made a
WW ........................ WWW
fundamental right, as per ............ .
e SR
(A) 96th amendment to Indian
Constitution (A) 969 WRAME SAGE&
(B) 99th amendment to Indian
(B) 99at YR TeAGEi!
Constitution
C) 97at YR FHeAGE!
(C) 97th amendment to Indian ©) 97
Constitution
(D) 90+ AR EAGERI
(D) 90th amendment to Indian
34. YRarew dieem fod AN eTeme
Constitution
HOT B ?
34. Who was the Chairman of 14th
Finance Commission of India ? (A) Tosra dasht
(A) Vijay Kelkar
(B) orfafsa o+
(B) Abhijeet Sen
(C) THH ST
(C) Raghuram Rajan
D) Y.V. Reddy D) . TSl
17 [P.T.O.



35.

36.

When two or more countries come
together, remove mutual tariff and
quota restrictions and obtain
common tariff policy for the rest
of the world, such integration is

called as ?

(A) Preferential Trading Club
(B) Free Trade Area

(C) Customs Union

(D) Common Market

Which system of exchange rate
determination is followed in India

since 1992 ?
(A) Currency Basket Mechanism
(B) Fixed Exchange Rate

(C) Pure Float System of Exchange

Rate

(D) Managed Float System of

Exchange Rate

35.

36.

MAY - 11316/III—C

I S fhan s 29 THT I

ERIEA Y[eeh oo whiel ey
ARG wIa@ emfor AT e

I YRIeeh HRT TEehRard deal 3T
W‘U‘n’?ﬂl ............................ 3:[@
TEUAT.

(A) W AT
(B) &I SHATIRES

(C) Thrd I

(D) 9 ISR

o o (aV

HIATd 1992 9y TaHHT <X BINERIE]L

DI Il drakelt S 2

(A) I A9t I

(B) frer fafma g 9gdl
(C) faftraetr=n s @ usdt

(D) fafmeeT=l =gawafoa T gst

18



37.

38.

In confidence interval estimation,
o = 5%, this means that this
interval includes the true [ with

probability of :
(A) 5%
(B) 50%
(C) 95%
(D) 45%

In standard bivariate regression,
the coefficient of determination

is given by :

(A) Residual sum of squares divided

by total sum of squares

(B) Total sum of squares divided by

residual sum of squares

(C) One minus residual sum of
squares divided by total sum of

squares

(D) One plus residual sum of
squares divided by total sum of

squares

37.

38.
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forgaeedT HEATAR |91 78 oL = 5% A
Y T B HI A SSEA T B A
T He A= HHERT B0AT= U §
AT A

(A) 5%
(B) 50%
(C) 95%

(D) 45%

A fgod gdoEAa HeRe TR
B SAEAl

[a)

(A) 3 B

{1 WIfTet STt
THU S

(B) THe= THU oS il 3w

a

ISl

e o

fa

(C) Teh IS IS IS SRS HIRTe

o

el WU SIS

(D) T AEeh IS e oISt 9ifiTet

[a)

[

lc OO"\ T =
FHesr=l TR o
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39.

40.

If multicollinearity is perfect in a
regression model then the regression
coefficients of the explanatory

variables are :

(A) Determinate

(B) Indeterminate

(C) Infinite values

(D) Small negative value

In classical linear regression model,

x; and u; are :

(A) Positively correlated

(B) Negatively correlated

(C) Highly correlated

(D) Not correlated

39.

40.
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S gdtgnEd gfqAmEE gfigof

o NS IaSaY

feeamifaeifiEdl) @«

SgHEsIdl (A

T TASSIHIVICAS Fald e UTH

(Coefficient of explanatory variable)

T 3 A
(A) Tfy=a
(B) M=«

(C) 3Td Hed STHUR

(D) TRE 30 oI ITHUR

AT W YA xS w;

qrd

(A) Y FeEay 3TEal

(B) R WeHe" STl
(C) TUa S Hedad 3Teal

(D) TRHeY Tl
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41. If input-output coefficient matrix | 41 <R sTERE-YeM T FRviEn il A
is called A, then technology matrix 3 S s, A T E e
is :

A I-A
A)I-A

(B) A1
(B) A1

C) (I-A7t
©) - Ayl ©) ( )
(D) A? (D) A?

42. In a multiple regression model given | 492. Y, = By + Boxg; + Bgxg; + u; A
by Y; = By + Baxg; + Para; + u;, the SR gfaaa AT gt
partial regression coefficients are

U § STHAE
given by :

(A) < By ST By
(A) Both B4 and B,

(B) <=l By Mfon
(B) Both By and Pg P2 b3
(C) Both B; and B (C) Tt By =0T By
(D) Both B; and y; (D) T By 3w,
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43.

44.

Coefficient of variation is given

by :

a | =i

(A) x 100

- o - 100

X

(B)

(C) x 100

ke

1
D) —

ox X 100

The fitted regression equation is
given by SA(I. =-12 4+ 0.5x. What is
the value of the residual at the

point x = 50, y = 70 ?
(A) =57

(B) 57

) o

(D) 33

43.

Ak

MAY - 11316/III—C

forarerren we U @ STHdl

(A) x 100

a | i

- 100

o]
Q

(B)

(C) x 100

> a

1
D) —

X x 100

SIS AT TR Y, = — 12 + 0.5x
T AR x = 50, y = 70 =1 oA Ffema

W T T I
(A) -57

(B) 57

(€) 0

(D) 33
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45. Match the following and select the

correct answer from the codes given
below :

Writers
(@) G.T. Renner
(6) Tord Palander
(c)

d)

August Losch
Sargent Florence
Books

(z) The Market Area Theory of

Industrial Location

(i1)) Geography of Industrial

Locationalization
(i11) Investment, Location and Size

of Plant

(iv) The Economics of Location
Codes :
@ b)) © @
A) @) @) @) Go)
B) @ @ (v ()
(C) @) Gv) @) @)
D) @ Gv) @) @)

45. Si=AT

MAY - 11316/III—C

S@al a9 wral fedwan
Hhawmgd 4rg I aer

grery
(@ 3. ™
(b) o AU
(c) ST &R
(d) HSve FARH
T
(i) <F Tmhe T der ot Sefigaw
SIENE

(i) TSR e sefeaa asym-
SIRENE|

(iii) TTREHS, AhIH 2T HES 3Mh

o

WUl
(iv) & sy ifh ahe
Hehdiah :

(@) (b)

© (@)

A) @) @)
B) Gi) @
(C) (i) ()

D) @ ()

(1) (w)
@) @)
@ @)
@) ()
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46. Who assumed elasticity of demand

47.

for money equal to 1 ?

(A) Mill

(B) Hicks

(C) Marshall

(D) Samuelson

Consider the following statements :

(I) The numerical tables attached
to indifference curves are
meaningful only in an ordinal

way.

(I) The numerical meanings

attached to isoquants are

meaningful in an ordinal way.

Select the correct answer from the

given below :

(A) (I) is true and (II) is false
(B) (D) is false and (II) is true
(C) both (I) and (II) are true

(D) both (I) and (II) are false

MAY - 11316/III—C

46. YT GETOET SotEehdl 1 3Td 39

47.

TeATeieh! HIol A ?
(A) T

(B) fer

(C) =

(D) HSTAHA

wed faum foamrma =0 .

(I) T ThToaie] HEATcHS el

HUSIN Tgd= g 3.

(I1) TS TehleRisiie TeAceh qol

HHSY Jgdia Ird 3Ll

ECIGIGEEAN (R0 MR e IR

(A) faum (1) sRieR e faem (1) 9=
e

(B) faum (1) I 1A faum (11) sl
e

(C) (I)F (II) & <2t faam sker eTed

(D) (D= (ID) & <2t T g eTed
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48.

49.

If indifference curves are concave
to the origin then at tangency point
between indifference curve and

budget line is :

P

o
=<

a”,

X

(B) MRSxy =
Y

(C) Consumer is worse off
(D) Both (B) and (C)

Suppose demand curve for X
shifts rightwards due to increase in
consumer’s income. The price
elasticity of demand for X in

numerical value :

(A) decreases at every price

(B) decreases at the price that
prevailed before the change in

income

©)

increases at every price

(D) increases at every price that
prevailed before the change in

income

MAY - 11316/III—C

48. S qEEIAl ok SISl ST

AT STHATA X qSEqAT oAk 0T

STQTSTIAehT o= TaRifeigea ST

PX
Y
PX
(B) MRSyy = 7
Y

(C) Y9I 9HYE FH B
(D) a0dATHt (B) 9 (C) ® =R

49. SUHFEIA IAAM @ HAHS ST

HITU sk ISTeliohe STaTall el o ‘&1’

&= fohaa aafeehaal WU

(A) Y3 TRAdE wH 38
(B) 3T 91E BIvATgS = Jeieh fohwiien
FHH WA

(C) T foruadia S 218

(D) 39 aE BIvATgal = e fehad e
SR STE
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50. Suppose the demand curve is

51.

downward sloping and supply curve
is positively sloping. Imposition of

tax would :

(A)

increase producer’s surplus

(B)

reduce consumer’s surplus

(C)

leaves producer’s surplus

unchanged but reduces

consumer’s surplus

(D)

leaves consumer’s surplus
unchanged but increases

producer’s surplus

The costs that do not vary with the
level of output but can be avoided

at zero level of output are :

(A) Sunk costs

(B) Total costs

(C) Fixed costs

(D) Implicit costs

MAY - 11316/III—C

50. HETOMET % SR @l Said ST 3THa

51.

9 IS gk U TWEAET S A7

SR Y SARON e, W
(A) AT G dlea
(B) UTeshT= Hamomeed sed

(C) ScUICehra HAIoTeRR Taed Teid
TU UTeeh= Haromeed sed

(D) TTEhT= TAToiEeR ST Tael qur
IAEHTE Ao aed

S T SRS eIeR Siged Teid, T

3CIEA Y[ A S T el AT

(A) = =9
(B) TRU =T
(C) TR =3

(D) 378 =
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52.

Which one is not a condition for the
combination of inputs to be cost

minimizing ?

MAY - 11316/III—C

52. TIATATHT HIUAT ICAETEEH T

Scae e = fRATRLoTEE AT 37

3T Thd A& ?

MP MP
(A) MRTS = MP, (A) MRTS = MP,_
MP MP MP MP
(B) L - K (B) L — K
w r w r
w w
(C) MRTS = — (C) MRTS = -
r
MP W MP w
® \po = ® \po =
K r K r
53. A price taker is : 53. fohua wioRedl HIME W S ?
(A) a firm that accepts different . -~ .
(A) S ScaeAEEen fRAUE Teeh
prices from different customers )
R Ien fhadt STerRd
(B) a consumer who accepts
different prices from different (B) it e Ffres SCHlQrSSH &
firms fRfesn feadt weral
(C) a firm that accepts the best (C) S SeqETHE ST ulachichsc\d
offers it can get from its o e e
HAldH [ehHAD Hlehld
customers
. D) STt ScareaaEen fhudier aiom &
(D) a firm that cannot influence D) “
price NERE I
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54. Cournot equilibrium is NASH

55.

equilibrium because :
(A) Joint profits are maximum

(B) Neither firm can gain by

deviating unilaterally

(C) Leader can gain by deviating

from equilibrium

(D) Both (A) and (B)
Consider the following statements :

(I) Monopolist uses quantity

discounts for exctracting some

consumer surplus.

(IT) Monopolist charging different
prices for each unit of output
leads to competitive level of

output.

Select the correct answer from the

given below :

(A) (I) is true and (II) is false
(B) (D) is false and (II) is true
(C) both (I) and (II) are true

(D) both (I) and (II) are false

MAY - 11316/III—C

54, FAI GHAIA B T GHAIA ST I,

55.

ALY

(A) TIF TH FHHE STH

(B) Thawt faue ™ Sr=iUs! THE!
IR ®RE B ARl

(C) HHAIATIT=a faee™™ qerhi

11 o e D I

(D) TRt (A) 9 (B) 91T 3T®
et faam T8
() S Haoeed 9T e

HUTHTS! HeRieR AT Facidi=]

IR FHLl.

(I1) I&=a1 sk e T Rresn

foR AT SRR Sce AT TaicHh

el TSl STd-
ECIGIGEEA N (R0 e IR C I

A) fauam (1) sUeR e o fagm (1)
Ih IR

(B) faum (I) I 7g o faum (II) sk
e

(C) (I)a (II) & St faam seR 3Ted
D) (D)= (1) & <=l faam = emed
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56.

57.

Let price of X and price of Y be Py
and Py and I be the income of the
consumer. Suppose price of X and Y
increases 5 times, then the budget

line would be :

(A) Py + Py = 1
(B) Px + Py = <1
(C) Px + Py = 1

(D) Px + Py = 5I

The Marginal Productivity theory
of distribution in a book titled
“The Distribution of Wealth” is

written by :

(A) J.R. Hicks

(B) David Ricardo

(C) J.B. Clark

(D) Leon Walras

56.

57.

MAY - 11316/III—C

‘o' g o asE fREdl SgEE Py o

Py T8 WEhM 3O 1 38 S AL

SR’ 9 ' = fRadl Y e e,

W fRaa o sla ?

(A) Py + Py = 1
(B) Py + Py = <1
(C) Py + Py = 1

(D) Px + Py = 51

faaTSHTET THT Sceswdl TagT=

Distribution of Wealth” I J&ihTd
T 3R,

(A) S.3R. fea
(B) sfwe et
(C) &l FATh

(D) fasT g™
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58.

59.

Comparison of the equilibrium wage
rate and level of employment when
there is monopsony in labour market
(Wy; and Lyp) and when there is
perfect competition in labour market

(WC and LC) indicates that :
(A) Wy < Wy, and Ly > L
(B) Wy < Wy, and Ly < L
(C) Wy > Wy, and Ly < L
D) Wy > Wi, and Ly > L

Demand under uncertainty is

associated with the name of :

(A) Von Neumann and Morgenstern
(B) Sweezy

(C) Chamberlin

(D) Samuelson

58.

59.
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THIATSIIG UTEhH-HFAST  THIATH

SAATER ST YSHIR AT FHATA (W

q Lyp) S0 SHETSRG T8 ST

Fded (W d L) Al e s
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60. Match List I with List IT and select

the correct answer using the codes

given below :

(@)
b)
(c)

d)

(1)

(2)

3)

(4)

List I
Input-Output Isoquant
CES Production Function
Duopoly Model
Kinked Demand Curve

List II
Arrow & Chenery
Leontief
P. Sweezy

Cournot

Codes :

@ b)) @© @

A @1 B3 @ @

B) @2 @1 B @

© @2 O @ 3

M @1 @2 @ @

oo

MAY - 11316/IT1I—C
60. T I 9 =1 II AEfia S e a9

Wl lqeied

faer

et 1

I FehdTehTell STa& I 31X

(@) SAQME-3URT FHIUIGT dsh

(b) CES 3@ W

(c) Tefamartaar gfaam

(d) STHER HFTIN Th

et 11

(1) 3 9 ==
2) fasdifess
(3) . e

(4) AT

D

K3 K3
-
.

(a)
A @)
B) 2)
©) @)

D) 1)

(b)
3)
o))
1)

2)

()
(2)
3)
(4)

3)

(d)

4)

(4)

3)

(4)
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61.

62.

User cost of capital appears in :

(A) Keynesian theory of investment

(B) Fisher’s theory of investment

(C) Hicks’s theory of investment

(D) Jargenson’s theory of investment

Which one of the following is a
correct description about the origin

of endogenous growth theory ?

(A) Rejection of CRS assumption

(B) Rejection of exogenous

technical change assumption

©)

Rejection of constant savings

rate assumption

(D) Rejection of constant population

growth rate assumption

61.

62.
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W™l SUANThdl e

71 g TS el SR

(A) S5 TaausEn fagm

(B) fwer=n Taauhi=n g

(C) fesra=n Taave=n fagm

(D) SRE=n T[qaveht=n &g

Tttt HI0T Aasia AT S

S Hoo |ar™ g 90 TR ?

(A) CRS TRId TR0

(B) 9Tgd qIfAsh sqemd Tard AR

(C) Ter s/=@ U= TR ATeRRul

(D) wrerEE= fer SAfggieT™ TEh

AR
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63.

64.

Which one of the following is a
correct definition of monetary base

in the theory of money supply ?

(A) Sum of currency and bank

reserves

(B) Sum of currency and demand

deposits

(C) Sum of demand deposits and

bank reserves

(D) Sum of currency, demand

deposits and bank reserves

In square-root formula for demand
for money of Baumol, demand for

money will be more if :

(A)

Cost per trip to bank decreases

(B) Cost per trip to bank increases

(C) Cost per trip to bank does not

change

(D)

Expenditure of the individual

decreases

63.

64.
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Yyaren Rasuaren fagian Ereierde]

SHIUTAT SIS SAREAT =i STER [
TRl FgA 2

(A) <o 3T Sehereled Teite Jgarst
S|

(B) == 3mfor |pel Sei=n sist

(C) HETO S} 2Afo] dehehelad e
Y= S

(D) I, HEOT et M Seheheld

o

5

Ete Y9 I 9

TR AFTO S A S SRS g

dehd SITUITET Ycdeh geAdTeIT=l Td

I AHA™H

(B) Shd SUITET Ydeh goTaredr=l ©E

dled AT

(C) lehd SITUATE Tedeh RefaTeITa @

QA A

(D) =Tl W Sed 3THeITd
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65. The difference between short-run 65. HEHT BT T STERTCTT ST

and long-run consumption function,

according to Simon Kuznets is as

follows :

(A) Long-run APC falling but short-

run APC constant

(B) Long-run APC constant but

short-run APC rising

(C) Long-run APC constant but

short-run APC falling

(D) Both long-run APC and short-

run APC falling

o 3T SEehTela SUYT e

e W FhE A9l

(A) TIERRICT T STHRTHERIT S q07
STCThTE T TH U fEer

19

(B) <rEehTei U SUHrTYaRT R

FEd TUT TURTATT  FUEN

SYHRTYERT dT@d

(C) <rEehTei qUEd SudryaRt fEer

IFA WG ATTHTA  FIFA

YUY Hed

(D) STHRTAT d ATt Il

SUHNTYRT  Hedrd
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66.

67.

In IS-LM Model, government
expenditure multiplier does not

depend on :

(A)

Slope of savings function

(B) Slope of investment function

(C) Slope of speculative demand

function

(D) Slope of government expenditure

function

To bring the economy out of
liquidity trap, which one of the
following will be an effective

policy ?
(A) A rise in money supply

(B) A rise in income tax rate

MAY - 11316/III—C

66. IS-LM UfqHMMEd TWHRI @< o

(A) FEd A=l 3dR

(B) T HeHEl AN

(C) TEaTS=AT HETOt Themren 3R

(D) TN ©E =T AR

67. S fefeeredl el HISAdT o

FHUTET STHA T WATeTUeh] IOl 0T

IRUTHR RS A ?

(A) U= S a6

(B) 3 < {=Al <Ud dé

(C) A rise in government
expenditure () TH @ T
(D) A cut in government
expenditure (D) FHR! @
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68.

69.

Suppose the following equations are

given for IS and LM curves :
IS curve : Y = 350 — 1000~

LM curve : Y = 200 + 500r

where Y = income and r = rate of

interest.

What will be the equilibrium values

of Y and r ?

(A) Y =200, r = 0.04
(B) Y = 250, r = 0.1
(C) Y =300, r = 0.15
(D) Y =350, r =02

In an economy, given MPC = 3/4,

income tax rate = 1/3, the

investment multiplier value is :
(A) 2
B) 3
(C) 4

D) 5

68.

69.
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ST IS orfuor LM a&i=i SHTHIu

ETATAYHTOl 3T
ISd% : Y = 350 — 1000~

LM 9% : Y = 200 + 500r

A Y = 3T 9 r = S €L R4,

3o URfEerRdia Y & /= SHara fehwt
A ?

(A) Y = 200, r = 0.04

(B) Y =250, r = 0.1

(C) Y = 300, r = 0.15

(D) Y =350, r =0.2

AT SR A SUHM YA 3/4
3T, 3T HIET L SR 1/3 38, W
e sriter
(A) 2

B) 3

C) 4

(D) 5
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70.

71.

In classical economic models, the

full-employment is ensured by :

(A) A vertical AD curve but rising

AS curve

(B) A vertical AD curve but falling

AS curve

(C) A falling AD curve but vertical

AS curve

(D) A falling AD curve but rising

AS curve

Under fixed exchange rate, Mundell-
Fleming model shows under perfect

capital mobility :

(A)

Fiscal policy is a failure but

monetary policy is effective

(B) Fiscal policy and monetary

policy, both are effective

©)

Fiscal policy is effective but

monetary policy is a failure

(D) Fiscal policy and monetary

policy, both are failure

70.

71.

MAY -11316/111—C
AR ST GfaaHmed qui IsHR
TR v TG+ gradet Sid 2

(A) Tafaeies gog qrmn 9% 9 ==l
AW a3l 9%

(B) farfasicets 9o AWM o o SEal
I A3 T

(C) Il 9H& {0 a5 o farfasias
I A3 T

(D) TEA THE HETON %k o Fedl 9H
T3 aH

feer fafmar X aRfRdived JEa-waitam

gfaaa vreaarean qui faefiead=an

Heuid

(A) fa<ig e€nior STagTesl 3Xd 9Ul
T TE U0 UROMHSRE 3

(B) foxii@ &R0 o =reHfoIo@es &) §

ha N Y o

el HIXY[[Henlkeh  oXdld

(C) foxia ¥R 9omeies 3%d 901
FHaSHeh GR0T STIRTET 3

(D) fo<itg &RU 9 Segugs g0 §
T STERRE] A
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72.

73.

If in an economy average propensity
to consume is equal to marginal

propensity to consume :

D

Consumption function starts at

origin.

(IT) Income elasticity of consump-
tion is equal to 1.

(A) (I) is true and (II) is false

(B) (I) is false and (II) is true

(C) both (I) and (II) are false

(D) both (I) and (II) are true

In Ranis-Fei Model, the wage rate

in Agriculture sector is equal to :
(A) Surplus Production per Worker
(B) Marginal

Productivity of

Labour
(C) Average Productivity of Labour

(D) Net Production per Worker

72.

73.
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TEREN ST TR SUHM Wit
SO HH= IR Yot qHE 3T,

qa¥

) SUHRT FerTe! GEard STRTEAHAA
2.

(I1) U= g~ Aafashdl THh

194

A) (1) 77 g (1) 38 A

B) (1) 39A W (II) FA
(C) () 7fuor (II) Sl /¥
(D) (D) 7o (II) Sl &

Ranis-Fei 3fqaummsd oidtaadr

oo

(A) S HsHrie erfafter

Sl

(B) S HH IcqIGehdl

(C) TS T Icqrgehdl

(D) T AUANE ok 3G
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74.

Kaldor’s Model of growth identifies

the factor causing growth as :

(A) savings

(B) capital accumulation

(C) human capital investment

(D) technical dynamism

74.
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hASR= AYTG! FTHATER AITS]

TS UM FEh WUS

(A) ==t

(B) Wicad T9d

(C) At Wi {iquLch

(D) dqifsreh Tifdeht

75. Father of Economics, Adam Smith, | 75. 31T=m=N Sk, feq {1t AT shiore
argued in favour of a policy of : U= S fraae sherl ?
(A) protection (A) T
(B) free-trade (B) HK =ATIR
(C) self-sufficiency (C) 3TerfeiRa
(D) no trade (D) AMURT=T A9
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